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Last season, Farmer Joe's orchard yielded 25, 678 oranges. Farmer Ken's orchard yielded

thrice as many oranges. What was the yield of Farmer Ken's orchard?

2)

Morgan’s town has a population of 9, 983. Ben’s town has 3 times as many people living in

it. What is the population of Ben’s town?

3)

Ms. Jerrod makes    120, 560 in one year. How much will she have earned in 7 years?1)

Sarah works at a publication house. If she types 15, 545 words per day, how many words

will she type in 9 days?

5)

4) Jordan makes it a point to walk 50, 550 steps a week so he can stay !t. How many steps will

he walk in 5 weeks?
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Multiplication | 4, 5, or 6-Digit by 1-Digit
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